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— 1MW 2w 921 32 oD 1m0 9RAN
Rabi Yochonon disqualifies it by him and certainly by his agent

OVERVIEW

The miwn taught that if the husband says to the w1 2w, ‘take from her a certain
item which is mine’, the m°5w may not send it (the v3) with someone else, because
IR 72 MIPD XWX PR (he does not want his deposit to be in another’s
possession). The & n3 cited a dispute in a case where the husband said to the 5w,
‘take the item from her and afterwards give her the v)’, however in fact the m°%w
gave her the v first and then retrieved the item from her. 7371 "1 maintains that
whether it was the original 2w who did not follow the directive of the husband,
and certainly if it was a second 9w (appointed by the first m>w), the v is ?108.
While w°p% w1 maintains that it is 9> in both cases. There is a dispute between
>"w1 and MdoIN how to understand this X73.

- AUNRN 52 YONN INYS XIY NIN DN 5¥an n1apt 'ovnpa wre
>'"'w9 explained that the husband is only insistent that the item should not

remain in his wife’s possession -
- 5093 V)N PN NN 152 AWM NIAY YON N3N VXY 1YY NNV HNa Yax

However regarding this which the husband told the v that he should take the
item from her, and the 5w appointed another 7°%¥ to retrieve the item; that will

not cause that the vx should be disqualified, for even though the husband may be
particular as to who will receive the item from his wife, nevertheless it is not sufficient to
disqualify the v —

mooIn clarifies a potential difficulty according to >"w5:
=" Nd *2r927 53WY DN NY NIY NRYY 13990 3vwmm NPT NN 12 INTY? KD

And this which our mw» stated; ‘and he should not send it through another
oW’ the reason for this ruling is that perhaps the first 5% may not give over

! mooin is (seemingly) referring to 2181 7"7 >"w1 who writes, VAT 25V2 WYT2 AW PR T°OR XWI2 7O pw 70 K 037
INNW TV KDY N7 POAT 17 10N R DX,

% See *"w1 on the ¥"37 7"7 'R 7MY where he writes, 933,202 X2 KUXT MMHY 0K T2 MTPD XYW M PRT 2 9V AT
99977 ,IMK 702 VAT AW YOMA 2107 20w WORT YDA 2N 19K VAT LT 1270 HYa 7O KD LART LW MWYY PYIDW KU MDY
101 3"MIRY O 9200 AW 032 MPW AT PR YO AW DX,

3 According to (mooIn understanding of) >"wA that the v3 will not become 9109 if it is sent with a second m>w, why
does the nwn state that 'K 72 n7w° X?'; what problem is there by the 1w mbw.

* This is referring to the instruction of the husband that he should first take the item and afterwards give her the 3.
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the instructions properly to the second 5V -
- 5031 91099 JNa PIPT NY W IN

Or perhaps the second 2w will not be that careful to follow those instructions,
and the v» will become %195. This concludes *"%15 (according to nMooN).

Nv0IN comments on *"'WId:
=INYUN 7921930 9NN 792 I109TP NPY NIV PRY NINPT NA AT 99

And according to this interpretation (of >"w"), this which the mwn states (as a
reason why X 7°2 e X, is because) ‘he does not want that his deposit
should be by someone else’, this 71X refers to his wife, but not to the second m>w —

In summation; 337 " rules that if the husband told the m°%w to first take the item and then give
the v3, we assume that the husband is 7°9p» that the item should not be by the woman (21X 7°2),
so therefore if the m9w (the first or the second®) gave the v before retrieving the item, the v3 is
709, The mwn teaches us that the first 5w should not appoint a second %% in this case, since
there is the likelihood that the husband’s instructions will not be followed.

mooIn disagrees with >"wA5:
= DYan 99K YUND 99D NOY?I RDY NN 793 1NNTYI XDT PNIT AT 0N PNIT AN ay

And this explanation seems to be strained, and it is also difficult that the reason
why anR 752 1amws K% is because we are concerned that the first m°%w should not
forget to tell the second "% the directive which the husband gave him —

mooIn offers his interpretation:
= NV N9 2N 997 NON NI DIPY 9IRYIT DNYAN )2 PN 139297 AN

And it seems to the X''2" that when the husband said to the m°%w, ‘take the item

from her, and afterwards give her the v’ -
- 9NN T2 NYWNRY 39 19N 229 HDID XYaNa VIN MNYHY ANNHY

So the husband made the delivery of the wx dependent on retrieving item,
therefore ' disqualifies the v3, when the first 15w sends it with another m>w -

> However the husband does not mind who is retrieving the item from the woman, as long as she does not have the
item, he is satisfied. However we are concerned that the second m»w will not have been told the instructions
properly, or he may not deem them important and he will not take the item first, which will cause the v3 to be 7051.

% Some explanation is required why >" rules that 1m¥9wa w''21 12 Y019, what is the w"2?! Perhaps one can say that by
12w one may not send even 721nY, so therefore it is a w"> that if was 71w it is 7109, Alternately by "7 m°2w there is
the idea of MR 72 MTPD KTW 1M¥7 PR, and even though it refers (primarily) to the wife, it also can be used as a w">
to be 01 the 27 mHw.

7 moowin (when saying ') is referring to s"w1 explanation that 978 7°2 MTpD KW WX PX, is referring to the wife
(instead of referring to the second 5w, as the simple reading of the n1wn indicates).
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= VXN NN DNHP XOND NN YOI Hyan NP1 YN NYY NPY RY 1PN
Even though the second mYw did not change the wishes of the husband and

took the item from her before he delivered the ©3; it is still 7100 -
= 102N YD) NONA HYaAN NYTN NIVNY NI DI XN LVIN MNPDHY NLINY 11954

For since the delivery of the v» is dependent on retrieving the item, whatever
the first %2 changes from the husband’s wishes regarding the item (like

appointing another m°%¥ in his stead), will disqualify the > -
- 919 X932 19998 TIMYYA 19W 999 NPWWA PYUNRT NYIWA 12 HDID 1IN 239 11999 999

And this is the explanation of the X713 that »''1 is 12 %915 meaning the first mbw,
in a case where he changed the order (and gave the v3 first), and "1 is certainly

5019 by the second 5w, even if he did not change, but followed the instructions -
- PN 152 1199 NISWY I PNY YA DADT IYd NY 1TAN NN 152 19N XYY

And when the m1wn stated "R 792 USRS XY, it means even if the second oW
will not change, since the husband is particular about wanting the first mow

only, for MR 753 MWITPE RAW WX PN -
10900973 w9979 s915 WIPY YW awh NYYwn a Cuivs

Which (711xX) means in the hands of the second m®w, however ®''" maintains, etc.
that it is a 7w2 V3 in both instances as ''w1 explained.

SUMMARY

According to >"wA the ruling of *"9 is when the % (either one) was 7wn, and the
mawn rules that IR 7°2 AW RS, because maybe he will be mwn. According to
Mmoo when the mIwn states MR 72 UAPW° R? it will be 20 if he sends it with
another 5w, even if he is not 7Iwn.

THINKING IT OVER

mooIn explains that when *"9 ruled YymM5wa w"2 it means that it is 7109 even if X?
aw.'> Why therefore did *"9 say that by ymbw it is w"> that it is 109, why is it a
w"3, in fact since the *w 5w was not 7wn, why should it be 109 at all?!"

¥ Moo is saying somewhat of a novelty (therefore he writes 110 *37), that when > is 12 501 that is if he made a
"11°w, and that which he is ym>w2 0, is even if there was no »°w! However according to >"w1 both the ">112 9100
1mMPw1 is only if there was a "11w.

? See “Thinking it over’.

' This is not like >"w1 who interprets the 77X to mean the wife.

"' See end of Y1x1 7"7 ",

12 See footnote # 9.

" See oo 7.
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